The Great Thaw
End of the last ice age, approxi-

mately 12,000 years ago.

Human migration continues into
Northern Europe, Siberia, and
Canada.
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The world’s biomes become a little
warmer. Rainfall increases.
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Vegetation increases in many of the
world’s biomes.

Animals become more plentiful.

Foragers easily find food.
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Human population grows.
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“Semi-settlement” happens; foragers
become a little less nomadic.
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Global human population is at
“foraging capacity.”

Gatherers are able to observe the
entire life cycle of the plants in their
environments.
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Gatherers figure out that they can
manipulate the life cycles of plants by
saving seeds and planting them.

Food surplus—there is an overabun-
dance of food, and one farmer can
provide food for many.
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Some people are free to do other
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work.
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Human population SKYROCKETS.
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Villages arise.




